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(x+2)(x+4)(x+5)(x+7)+a
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> A a=9
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EN=(x+2)(x+7)(x+4)(x+5)+a
= (x2—|—9x+ 14) (x2—|—9x—|—20)—|—a

X2+ 9x=A 2 *|35IH

(F4) =(A+14)(A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 +9x + 17)°

172 =280+ a

a=9
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2xy+1- x2 - y2 = AEofotoat,

> HED Q+x-y)(1-x+y)

2y +1-x% =y =1-22+ 2y —y? = 12 = (x% = 2xy +)?) =
2-(x-y)?2=00+x-y)(1-x+y)
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O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)




4. 49x%> -9+ ldxy+y?> = <l

15235k EHY (ax+y+b)(ax +cy + 3)
7F = ek o, 444 a, b, ¢ ol ot a— b+ ¢ O] FZ FoFH?

@ 2 @ 4 ® 6 @11 ® 16

B

49x? + 14xy +y? -9 = (Tx +y)? - 32

=(Tx+y+3)(7Tx+y-3)
a=7,b=-3,c=1

La-b+c=11
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c=V4-2a-3b 4 o], 442 + 9b% + 2 + 12ab + 6bc + 4ca &) ZFE
Fatodal,
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> Heh: 4
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c=Vi-2a-3b A 2a+3b+c= Vi
- 4a® 4 9b? + ¢ + 12ab — 6bc — 4ca
= (2a)* + (3b)? + 2
+ 2(2a)(3b) + 2(3b)(—c) + 2(—c)(2a)
= (2a + 3b - c)?
— (VA =4




W o] 72 et Al &27F Z42F 3x - 1, x - 2y 91 AL WA 9] Ru]7}
3x3 = Tx? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] ZKHA| 9] o] &
T3t ?

@x—2 @ x-1 ® x+1
@ x+2 ® 2x+1
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—2y (3x2 - Tx+ 2) L R e L Ok
= —2y(3x2—7x+2) —|—x(3x2—7x+2)
= (x-2y) (3x* - Tx+2)

= (x-2y)(Bx-1)(x-2)

oEhA Eol= x -2 o[t
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